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Note : This paper contains Seventy Five (75) multiple-choice/assertion and reasoning

matching questions, each question carrying TWO (2) marks. Attempt All the

questions.

A8 AL WU YR () cglasedly usdl, WY-wig i BSs ot-ladidl Usedl 8,
MM el el dudidl 8. UAs el 6 () e 9.

1. As an intellectual enterprise with 1

a long history, political theory has

not been :
(A) Reflective
(B) Critical
(C) Cumulative
(D) Normative
2.  Which philosophical current was
implicated in the decline of Political
Theory ?
(A) Hermeneutics
(B) Positivism
(C) Post-structuralism

(D) Phenomenology
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s dlo dlagin waHl olifas ugk
Ay wsly Rigiani {2 UL -l

wHIA Wl B 7
(A) wlalsioi
(B) A&l SAL
(C) AsAlddl

(D) HeulArsdl
UL Dgidrl dddHl sdl dileas

Ndls AsAdl edl ?
(A) el H{lxiu
(B) MMILLdle

(C) wigARuAL [Qau-

(D) gu8el [Astid

[P.T.O.]




Which one of these is widely
regarded as a foundational text of

liberalism ?

(A) Two Treatises on Government
(B) Capital

(C) Social Contract

(D) Discourses

Marx and Engels saw the executive

of the modern state as :

(A) ‘A puppet manipulated by the

industrial capitalists
(B) A guarantor of social welfare

(C) A committee for managing the
common affairs of the whole

bourgeoisie
(D) A crumbling relic of feudalism

Which of t.hese thinkers did rnot

advocate the end of ideology thesis ?
(A) Edward Shils

(B) Raymond Aron

(C) Daniel Bell

(D) Harold Laski
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The ideological current that has
~ crucially challenged anthropo-

centrism is :

(A) Liberal feminism
(B) Deep ecology
(C) Market socialism
(D) Neo-conservatism

Which concept did Gandhi
formulate to convey his vision of

social welfare ?

(A) Satyagraha

(B) Swadeshi

(C) Sarvodaya

(D) Swaraj

According to Lenin, the highest
stage of capitalism was :

(A) Managerialism

(B) Bureaucratic collectivism

(C) Imperialism

(D) Post-Fordism
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ol A ussil 7
(A) Gelr AlRlae
(B) Glsl valaglale
(C) 6% AMXALE
(D) a3leyddidle

AL seqigifl vl gferil agl+ w2

el 58 Aseudl sl ?
(A) AUIAL

B) =aral

(C) udley

(D) ARLY

Al Ha ySlawedl uala Rald

58 ¢ 7

(A) AHAR™AIYAALE

(B) Es il wHy[sdiale
(C) ABFUALE
(D) ¥ig-5l8dle

[P.T.O.]




10.

11.

According to Plato, gender relations 9
among the Guardian class should be

based on :
(A) Equality of men and women
(B) Male supremacy

(C) Female supremacy

(D) Strict segregation

Aristotle’s notion of citizenship & 10.

accords a central place to :
(A) Empowerment of wc;nien
(B) Abolition of slavery

(C) Civic friendsilip

(D) Universal suffrage

In his writings pertaining to war, 11.

Machiavelli condemned the use of :
(A) Citizen soldiers
(B) Mercenaries

(C) Strategic flexibility :

(D) Infantry
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wdeidl Hd oulBud’ qoldl Ael
QAL Allu AGiel-AL 2UaLR sUL Sldl
ASH ?

(A) Y™ 2 1l Al ALl
(B) Y3, thucq |

(C) ¥l 2uRu

(D) Y [Acux-

d[3eledAl AR sdIAL vuid 59

Aad Svsld 4y © 7
(A) Al %iatsctiazet
(B) gcm[lr[l .«uogfl
(©) ~watls Asfl

(D) %ucf[ﬁa HellBsi

Ygn @dldi d-tl quieiiui, Alzuadln

Al GuyioAl [@Qa syl ?
(A) -watls A
(B) ousdl Alasi

(C) HelHs dadlsdl

_ (D) dyen




12. John Locke’s theory of natural 12, “‘UslQs ARSI -l el disl
Rigid Al Q- @Sl auerHidl Gema

rights stems from his

8 7
understanding of :

(A) D9+
(A) Life

(B) Al
(B) Liberty

| (C) dgdl

(C) Health

(D) Aulw

(D) Property

13. %eid @ BMd A+l [y «
13. John Stuart Mill did not oppose :

syl ?

(A) Denial of suffrage to women X .
(A) WU HdllEsR 1ol

(B) Strict censorship (B) Y Ay

(C) Quantitative hedonism (C) HAMEs Yuidle
(D) British imperialism D) Bl wHradle

14. Marx’s early writings are focusedon 14, 54 U3%Ud-l quitell sul [Qasi-l

a critique of : o AsL s ?
(A) Bakunin (A) ougHld
(B) Hegel - (B) &34
(C) Nietzsche ©) -l
(D) Diihring D) geldl
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15. To which ideology did M. N. Rby 15.

16.

17.

subscribe to before he espoused

Radical Humanism ?

(A) Gandhism

(B) Communism

(C) Liberalism

(D) Socialism

Interest aggregation results in :
(A) Many policy alternatives
(B) Few policy alternatives
(C) Many political parties

(D) Depoliticisation

Which of the following statements

regarding the status of ministers

(secretaries) of the US President is

wrong ?

(A) Ministers are appointed by
President

(B) Ministers are not responsible to
Congress

(C) Congress can’t remove them
with vote of no confidence

(D) Ministers can’t be removed from
their jobs by President without

consulting Senate
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(C) "Bw eal AYSA el

D) [Bislusze

AR S guldAl vau-dl (AR -
g (A9 A Usld s Qe Wi
8 ?

(A) Haltidl FHgs uHu 53 0
(B) Meldl “lineia waleell <yl

(C) lAsqAAL Ul glRL UL AR

Ax slel udl g2 el 53 usdl

(D) A-edl a8 wamed sul [

AUl dHA siel vyl wasl

ol Asdl




18. Which of the following is the most

19.

important agent of political

socialization ?

(A) Judiciary

(B) Elite Clubs

(C) Personal experiences
(D) Educational Institutions

Which of the following is not

required for independence of

judges ?

(A) Election of judges by people

(B) Giving security of tenure to
judges

(C) Giving good salaries and other
service conditions

(D) Making removal of judges

difficult
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A U4 ey wimsa-l Al
el A2 S 69 ?

(A) ~qudat

(B) Gl saol

(C) »dd qedl

(D) [aer Bl

el @dotdn M 1A Ul ol

w5l Al ?

(A) dist gt el fesll

B) ~elaa dxl siedl Yead Hie
AetHdl uudl

(C) ~tlelial AR YALR 2 2y
As o2l wiual

D) el g sl wlEu ay

Hse oi-ladl
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20. In which of the following federations
have states_secec_ied'from the Union

in the 20th century ?
(A) USA

(B) Former USSR
(C) India

(D) Canada

21. Article 3 of the Indian Constitution
gives certain powers to the Central

Government. In that context, which

of the following is not true ?

(A) It can change the name of the

states

(B) It can unite two states

(C) It can admit new states to the

Indian Union

(D)

It can divide existing states or

add new territories to the

existing states
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0]l welul Ala Ugldl syl

YHAUdAHD AUl Al 92l usul
8 ?

(A) .20,

(B) dyud Y. 2. AU, 2R,

(C) ®URd

(D) ¥Asl

AHldly Aqlaaid-l Alw s44 S
AR Fedls wxiAl 200 . A

gl 2 Agelul 'gj, AR Al ?

(A) d ALY UH otedl a3 8
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23.

24.

Which of the following is not true
about ‘dependency theory’ ?

(A) It is a Marxist theory

(B) It is a Leninist theory

(C) It talks about fourfold

classification of classes
(D) It talks about agency and mode
of revoliltionary change

In the opinion of Pareto, only one

~type of government existed. Which

among the following types of

government was he referring to ?
(A) Monarchy

(B) Aristocracy

(C) Oligarchy

(D) Democracy'

Which of the following statements

about ‘Authority’ is incorrect ?
(A) Authority includes power

(B) When power enjoys legitimacy,

‘authority’ results
(C) Authority includes justice

(D) Totalitarian systems enjoy

authority
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‘Yadell Rgia’ @AY 1A Wl g
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&) & HbuaEl Reid 8

B) d ad-{ldagl [Agid 3

(©) a adtl-iL agdallsst 31 ald 35;.
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£9

D) A silast] uRadHAA 21w 2

ygla [As ald s
ARZAL HA Hod D5 o 1Al ARSI
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(A) Ul

(B) AvBidalEl

(C) 4ist dist gl Alddl AR
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25. When is ‘political legitimacy’ not

26.

threatened ?

(A)

(B)

(C)

(D)

When borders of the state are

not accepted

When current system of
recruiting political leaders is

not accepted

When governinents.do not
make plans wanted by people
or are insincere in their

implementation

When people occasionally

violate laws

The expression ‘Third World’ was

used during.......... :

(A)
(B)
(C)

(D)

First World War
Second World War

Cold War

Post-cold war period
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Ll ?

(A)

(B)

(C)

(D)

oyl UYLl AlHipA

ellstraudl AUl 2ladl

oyl AUNFSA Al o1l

s34l wadxud uglad
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28.

27. In spite of coalition governments,

the economic reforms have made

progress in India. Which of the

following factors is not a reason for

the same ?

(A) Reforms are the need of the

hour
(B) Reforms are supported by local
and international capitalists
(C) Reforms form a major part of
the programme of regional and
other parties
(D) Major partners in UPA and
NDA coalitions

agree on

reforms
Which of the following does not
provide example of two-party
system ?
(A) USA
(B) UK
(C) Germany

(D) Australia
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el Ml RSl A 51 Rl glal
tol wel 2URs il wodl ad
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(A) YLl yHadl 3Ruld ©

=
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29. New Public Management (NPM)

30.

has modernised bureaucracy. How

is accountability ensured under
NPM ?

(A) Performing agency’s goals
(B) Follqwing rules in detail

(C) By not stealing public money
(D) By no;c obeying orders given by

superiors

-Which committee submitted the

report which led to the 42nd

Constitutional Amendment Act

- regarded as a ‘mini revision’ of the

Con.stitt.lti(;n of India ?

(A) Zail Singh Committee
(B) Buta Singh Committee
(C) Swaran Singh Committee

(D) Hukam Singh Committee

Politieal Salense i
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- 32.

Which Constitutional Amendment

Act resulted in providing the Right
to Education to children between

the age of 6 and 14 years ?

(A) 91st Constitutional
Amendment Act

(B) 93rd Constitutional
Amendment Act

(C) 86th Constitutional

Amendment Act

Constitutional

(D) 88th

Amendment Act

Analyzing the provisions of
Directive Principles, who said that
ghosts of Sidney and Beatrice Webb
stalk through the pages'of the entire
text and this part of the Constitution
expresses ‘Fabian Socialism without

the word Socialism’ :

(A) Morris. Jones

(B) Lloyd and Susanne Rudolph
(C) Ivon Jennings

(D) Selig Harrison

Political Science—111
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s A 1y 9l a2l ausi euasia
Ruaeil @S suL olaiely Yairl
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(A) caMl siatelly Yaurl
(B) 34l slalefly Yl
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33.

34.

The emoluments and allowances of
the President of India are charged

to :

(A) The Consolidated Fund of India
(B) The Contingency Fund of India
(C) The Public Accounts Fund
(D) The .Uni01.1 Treasury

Identify the correct order in which
the following individuals held the

office of the Speaker of Lok Sabha :
(#) N. Sanjeeva Reddy

(ii) Sardar Hukam Singh

(ziz) Somnath Chatterjee

() P. A. Sahgma
Codes :

(A) Gu) @) Gv) @)

B) @) Gv) (i)

(1)

©) G G) @ G

O @ @ Gv @)
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el sufaAl waneqeei-l vl

SYL WSAIML 2d 9 ?
(A) MULdAl AsBid eisiani

(B) old-dl sRMs oisiami

(0) s8R B cisinmi

(D) A8 sl @AM
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(@) . Awa g8l
@) ARELR ¢54 Ry
i) e A2

Gv) .21, Al

s

Q) @) G) @ 6
(B) @) @Gv) Gu) @)
(C) Gv) G) @ (iif)
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35.

36.

Who said, “India is a unitary state

with subsidiary federal principles

rather than a federal state with

subsidiary unitary principles” ?

(A) Norman D. Palmer

(B) K. C. Wheare

(C) C. H. Alexandrowich

(D) Granville Austin

Which group of subjects is wrongly

listed below as part of the

Concurrent List. 7

(A) Criminal matters, marriage,
succession

(B) Preventive detention, social
security, rehabilitation

(C) Industrial dispute, economic
and social planning

(D) Marriage and separation,

justice, mines and minerals
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(A) U4 sl wHR
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37.

38.

Appeal by special leave means :

(A) Regular appeal to the Supreme

Court

(B) Appeal after the High Court

certifies to do so

(C) Advisory jurisdiction of the

court to give its opinion

(D) Residuary power outside the

ordinary law
Which theoretical framework was
applied by Rajni Kothari in
understanding Indian Politics ?
(A) Political Economy
(B) Rational Choice
(C) Systems

(D) Structural-Functional

Political Science-IIT
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39. Match List I with List II and select
the correct answer from the codes

given below it :

List I List 1I
(Name of State) = (Formation Year)
(i) Kerala (1) 1987
(i) Ihﬁarakhand (2) 1956
(zit) Sikkim 3) 1975
(iv) Goa - (4) 2000
Codes :

@ @ G @
@@ @ 6 o
® @ @ O @
©m @ 6 @
® @ @ O @
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@) Grivis

Gii) (A58

(v Olldl
$1S

()

A @

B) @)

(C) 1)

D) 3)

@)

(4)

3)

(2)

(2)

YR

(Al 2erunid ar)

(1)

(2)

@

“)

(z22)

3)

(1)

(3)

(1)

1987

1956

1975

2000

(tv)

(1)

(4)

4)

(4)
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40. Political commentators who have

41.

contributed to the growth of

" professional psephology in India

are :

(A) Rajeev Bhargava, Aniruddh
Krishna, Pradeep Chhibber

(B) Pranoy Roy, Yogendra Yadav,
Mahesh Rangarajan

(C) Ashutosh Varshney, Pradeep
Chhibber, Rajdeep Sardesai

D) Yogendr.a Yadav, Partha
Chatterjee, Vinod Dua

Who were the other two Election
Commissioners when the Supreme
Court adjudged that Chief Election
Commissioner and the other two
Election Commissioners have the
same powers ?

(A) J. M. Lyngdoh and M. S. Gill

(B) M.S. Gill
Krishnamurthy

G.V.G.

and

(C) G. V. G. Krishnamurthy and
J. M. Lyngdoh

(D) M. S. Gill and V. M. Tarkunde

Political Science—II1
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40. ¥ sy wlasial gl el

4].

gl 5241 Wl (Asidlw) - -

ALAAAS [@QsAUL ddlelt 2 09

AdAl U ¢

(A) A odla, x1[Hg 5L, Uely
¢9loo1 2

(B) uBla A, ddl+w uled, HEQU
AU

(C) 2yt AR, uely elos
ALY AU

(D) 4dlws diea, wal A2rw, [A-ie
gal

U2 el @A el YSIEL 2L

5 Yoy 2enll sMerr A iy 6 24l

SPRALARIAL A ARSI D AL ey

o 2eufl sMedr sioL sl ?

(A) ¥. 2. [Eosis A AH 2. Pie,

B) AH.AA. PBd x1d ».dl.9.
sy

©) @.dl.2. sayld sl F.203,
[&osie

D) 2.4, P 2 ol 24, 1 gs




42. Match List I with List IT and select

the correct answer from the codes

given below it : |

List I

List II

(Name of Organizations) (Name of Leaders)

() Narmada Ba.chao
Andolan

(i) Ekta Parishad

(ifi) Majdoor Kisar.]

Shakti Sangathan

(1)

(2)

@)

(iv) Tarun Bharat Sangh (4)

Codes :
@ @)
(A) (2) @)
B) 2) @)
© @ @6
D B3 @)

Political Science—II1

(iif)

3)

(1)

(4)

(1)

Aruna Roy

Medha Patkar

P. V. Rajgopal

Rajendra Singh

(i)

(1)

(4)

(1)

(4)
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42. 03 saldal sisdi Guula 531 YR

L oA YR R A ANl A L [QAsey

e $3U
ylel 1
(lolsrg ~uw)
G) ~lel eRudl
ielen
i) @sdl WRnNe
Gii) 175 B 3
Q216
(fv) d3Q MUd Y
s1S :
@ @)
A) 20 @
B) 2) 3
©) 2 3

D) 3 @

el R
(Acti, ~s)

(1) 21394 A

(2) UL ULRSR

@ .. pAXouue

4 % R

@) (Gv)
@ @
1 @
@4 @
1 @)

| [P.T.O.]




43.

Ly

The report of which committee

voiced concern about

‘criminalization of politics and

politicization of criminals’ ?

(A) Tarkunde Committee

(B) Sachar Committee

(C) Vohra Committee

(D) Indrajeet Gupta Committee

Match List I with List IT and select
the correct answer from the codes

given below it :

List I List II

(Name of Act) (Year of Enactment)

(1) TADA (1) 1983

(i) MISA (2) 2001

(izi) POTA (3) 1985

(iv) NSA 4) 1971

Codes :

@ @) G G
@G @ @ @
® @ @ O @
© @ @ @
D@ @ 6 QO

Political Science—II1

43. 59 Al ASAaul AFSLRVUAL
dLlfadlsRl A AL
slase [N Ridl wae saMi
pLl ?

(A) dirgs AMM

(B) AR Al
(C) A Al
D) Ssd L Al

44. 1A esuldal sisdl Guuia s YR
4 2 YR 2 A Aodl A Q121 [Asey

wie 5
el 4 el R
(stag1d ~ua) (veni 2iiaarg ad)
() TADA (1) 1983
(i) MISA ' (2) 2001
(iii) POTA @ 1985
(iv) NSA @ 1971
518

@ G Gi) G
a6 @ @ @
® @ G 1) @
© @ 3 @
O @ @ @ ®
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45.

46.

In which group of states is

Panchayat Extension to Schedule

Area Act (PESA) not applicable ?
(A) Madhya Pradesh, Gujarat,
Rajasthan
(‘B) Chhattisgarh, Himachal

Pradesh, Gujarat

(C) Maharashtra, Tamil Nadu,

Manipur
(D) Rajasthan, Maharashtra,
Madhya Pradesh

“Poly-communalism” is a term

coined by Fred Riggs to describe :
(A) Integrated society

(B) Plural society

(C) Diffracted society

(D) Parochial society

Political Science—I11
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45.

46.

541 AURALAL @AM U™ DL sUSUA
2 Risya ARw Ase’” (L) 2tHan
4yl ?

(A) HEAMBY, %¥3Ud, UNRALA
(B) eodluoe, [BHAd dea, AXUd
(C) Hslrlrg, diMa-lg, 1Ry

(D) AW, HSLRIN, HEd UL

AYelydle’’ (Poly-

£ ‘("I_%
communalism) A6 UUIOL S ?_‘13@

9, aslaal we syl ?

(A) Aslsd Ay
(B) olgbal AH
(C) NS 2ddl qHLY

(D) AUsleldlalel uHer

[P.T.O.]




47.

48.

With regard to judicial control over

administration, what does

‘malfeasance’ stand for ?
(A) Error of procedure
(B) Abuse of authority
(C) Error of facts

(D) Error of law

Arrange the following stages in the
evolution of public administration
as a discipline in the chronological

order :

(1) Principles Approach

(2) Public Policy Approach
(3) Administrative Behaviour

(4) Politics—Administration

Dichotomy
(5) Ecological Approach
(A) @), (1), (B), (3), (2)
(B) (4), (1), (3), (2), (5)

(€) @), (1), (3), (5), (2)

D) ), (1), (2), (3), (5)

Political Science—III

47.

48.

adlae Y-l RS [FueAl deedHi

DRl woedl wd g o 7

(A) wEu-l ala
(B) dtlldl gudloL
(C) azui-l ala

(D) sweldl ala

eULY 8o d1E Me dglaedl
Gesilanl AL detssiziq

slsHIAALR Qlisdl ¢

(1) Agilas »[Mo

2) A8z -l o

3) adladl SRISE

4) AFsR—alde gl Hev
5) vulazviagl oo

(A) ), (1), (56), 3), (2)

(B) - (4), (1), (3), (2), (5)

(C) (4, (1), (3), (5), (2)

D) (4), (1), (2), 3), (5)




49.

50.

The book “Essential Frankfurt
School Reader” deals with :

(A) New Public Administratio;l
(B) Public Choice School

(C) Public Polilcyr Approach

(D) Critical Perspective

The reinvention of the government

paradigm does not include which of

the following ? Select the correct

answer using the codes given below
it :

(1) Risk taking ability

(2) Ecological sensitivity

(3) Customer orientation

(4) Delegation of authority

(5) Concern for the disadvantaged
Codes :

(A) (1), (2) and (3)

(B) (3), (4) and (5)

(C) (1), (4) and (5)

(D) (2), (4) and (5)

Political Science—III
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49.

(©)

“CSAFHUY F558 28 TS A Yds
sqL [aMu wd Asnag o ?

(A) Adl A8 aglae |

(B) AR uAedll Mo

(C) e ~llla vife4om

D) AHlaticns vy

Asiel YAdsdz-dl [aciad-ul

Sl siAl qHde A adi ? 2

saldd siSl Guaial 31 WAL Ao

e 53U

(1) ouid Adidl &MdL

(2) uulazely Adeqsladl
(3) Assasll aqw

(4) il Aluel

5) usld ol He-dl R
51 :

(A) (1), (2) @1 (3)
(B) (3), (4) ¥ (5)
(1), (4) ¥4 (5)
(D) (2), (4) ¢ (5)

[P.T.0.]




51. New

52.

Public Administration

movement is essentially against :

(A) ‘Administrative centralisation

and neutrality of

administration

(B) Neutrality of administration
and meritocracy

(C) Me.ritocracy and political
orientation of administration

(D) Political

orientation of
administration “and

administrative centralisation

Karl Marx regarded bureaucracy

as .

(A) An instrument of governance

(B) A medium of policy

implementation
(C) An instrument of dominant
ruling class promoting its

particular interest

- (D) An instrument of the Nobles

promoting their interests

Political Science—II1

51.

52.

Adl 218 aglaedl anan yaoid d

Ul %u?{e,c[l ?

(A) d€ladl swalsel v aglaedl
a2l

(B) adlderl deradl 21 JIEDURTES

LA aglae

-

(C) YU dl—>14LRd aglae 1

ddlaed, AU da”

(D) adlaed AwslY a4l 21 agladl

Sealsw
sid HSA adlae ol d Haedl ?
(A) WAL AUt dls
B) Al 21d Hieqdl sy d3

(C) AU g1a-dlR wAs ad(-l
MBad [Rdid 210100 9414l
il WEA aRls

(D) GHRAUCAL Hi2 AM-L [&cﬁ& 21210,

qeldl Hledl Al a3




53. “By maximizing the productive gg e3¢ gugiadl Geules &MdiA

efficiency. of each worker, scientific -
Hedd aulld dsilrs qaeiuq

management would also maximize
stHell A sluRlatidAl syl

the earnings of the workers and

Yoy dl? 9. H [astid-l
employers. Hence, all conflicts

3‘. b= = =
between capital and labour would dlReul gLl 4sl A Ay al

be resolved by the findings of ddid dasid (Marer 29, 2

science”. This statement is made - 9
[Qatd si8l 5y ?

by :

(A) As. SHE,. 2R
(A) F. W. Taylor

(B) (1S ol-slsA
(B) Richard Bendix

(€) &%l e
(C) Henry Grant '

(D) Frank Gilberth D) &5 Riewe
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i~ £
54. ‘Good governance’ and ‘Participation 54. YU wA [asi e waRls

pa ; anlyl [BalelRl” A [aaRid
of civil society for development

. [QecoisHl sul Al AHSUAHL AHA™
were stressed in the World Bank

UL 2l ?

report of :

(A) 1992
(A) 1992

(B) 1997
(B) 1997

(C) 2000
(C) 2000
(D) 2003 Fp RS

55. How can a State Information 55. U%d-l R s A+l slel

Commissioner be removed from the

gyl 3l A gr s wasiy ?

office ?

A vy Y[Rl s
(A) By an order of the State Chief (A) RA%HAL Y

Information Commissioner g5 alll
(B) By the Supreme Court of India
(B) udl2 veldd gl

(C) By an order of the Governor

Al velad s3dl dulus
after the Supreme Court has ) 4l o

reported so after an enquiry vdAld-l UL UBLUE gl

(D) In a manner similar to the N : -
(D) eldsierl Arndlan dHedl elel

removal from office of a judge

s, ik Boart Yl g2 sraldl ulEul yue
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56.

57.

Who makes the provisions with

respect to the maintenance of

accounts by the Panchayats and

auditing of such accounts ?

(A) Finance Commission of the

concerned State
(B) Legislature of the State

(C) Comptroller and Auditor

General of India
(D) Political Direction
Which one of the following Articles
of the Constitution of India provides
for the creation of All India
Seryices ?
(A) Article 300
(B) Article 312

(C) Article 320

(D) Article 321

Political Science-III

56.

57.

29

Yaud glzl soadiil sidadl [Raell

2 Al 2iifEe [ANe UldaA s 52

8 7

A) % & AU sl U2

(B) Ul [Qaiucil

(C) 4-2ldR W+S 2R ¥d s
Slesul |

(D) AxEU elzasll

o201l 56 seu gl U™ eydly

Qallvdle o6 sAUML 2wy B 7

(A) s4M 300

(B) $d¥ 312

() s 320

(D) s4q4 321

[P.T.O.]




58. Which of the following funetions 58§, o{ﬁlqgml 2 ¥ uRDBrewi A

have been laid down in the 12th AL sal sl RSl W2

Schedule of the Constitution of . . L&
YAAdML 2l § 7

India for the municipalities ?
(1) w83 ARl [HarRe

(1) Urban Poverty Alleviation
| @) s A wHBrs [siad
(2) Planning of Economic and

DA%

- Social Development

(3) Wl [Fdsw
(3) Regulation of Tannaries

4) a8 a-lsw
(4) Urban Forestry

A) (1), (2) A
(A) (1), (2) and (3) A) (1), (2) 21 (3)

(B) (2), (3) and (4) B) @), (3) A @)
(C) (1) and (4) only (C) (1) 2 (4)
(D) (1), (2) (8) and (4) D) (1), (2) (3) A (4)
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59. Match List I with List IT and select  59. 3R 1 vt YR 2 A Aodl 244 AUl

the correct code : o sis+{l waiedll s :
List I List II YR 1 Yl 2
({) Central Vigilance (1) Constitutional @ 3-dld Adddl 1 sianzella
Commission 2rLLl.L\tC'L
(ii) Lokayukta (2) Resolution of (if) cllsiyse (2) o1d ASLL

. Government of 614

Giii) 3-dld AW Y31 @  swuesly

India
(iif) Central Bureau of (3) Statutory (iv) S15518 @) OsHlaul 621
Investigation 5lS -
(iv) High Court (4) Resolution of _
@ @ G Go)
Home Ministry
Codes Aa 3 @ O (4)

@ @ ) ()
B G O @ @
Aa @ @ O @

@ B3 @O @ @ © @ B3 @

© @ & @ @

D) 20 4 « 3
D@ @ O @ @ @) @ O @
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60. Assertion (A) : The Rajamannar 60. [Aaid (A) : rH-—~1 w2

Committee recommended the

LS. 22, uA LS LGN, A

abolition of the TAS and IPS.
Aloge sral dama s,

Reason (R) : The IAS and IPS

| sl (R) @ 2. 6.2,
violate the principles of federalism :

o g 1S LA, gIRL AHA™AAAL 2R
and ministerial responsibility at the

stuts Tavel. AUNY I MaHSAHL watetetIAL

(A) Both (A) and (R) are true and Rigldd, Gedu 2y .

(R) is the correct explanation (A) (A) A (R) 69 0l & »12) ()

of (A) |
2 (A) Al AAL yAldl 9

(B) Both (A) and (R) are true but

| (B) (A) 21 (R) 6inl Al 8 Y& (R)
(R) is not the correct

- A (A) «dl WAL vl 4l
explanation of (A)

(C) (A) is true and (R) is false ©) () Wy » (R) i o
(D) (A) is false and (R) is true D) (A) Wig & 1 (R) WY B
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61.

62.

Ideologically, arms control and

disarmament are :

(A) Similar to each other

(B) Different from each other
(C) Connected with each other
(D) Opposed to each other

Which of the following is an
instrument of conflict management

in international relations ?
(A) Coercive diplomacy
(B) Gunboat diplomacy

(C) Deployment of UN Peace-

keeping Force

(D) Arms purchases

Political Science—III
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61.

62.

dullrs Ad wot MUAL 24

[ri:e0(l 529

(A) UAUR AHL €9

(B) uuYl %el ©

(C) Asoflal w8 dsdal ©

(D) sollodl [Adl o

(12 Usldl sul [Asew 21iaz ly

Aol das] [Rustad s e

& ¢

(A) eouRls-dl ycugla(lrl

(B) durolle YeudlalR

(C) AYsd AUvel wildes su-l
BualiaL

D) il wIl€l

[P.T.O.]




63. Through Balfour Declaration

(1917) :

(A)

(B)

(&)

(D)

The US announced its support

for creation of Israel

Britain announced its support
for creation of independent

Palestine

Britain announced its
commitment to the creation
of Jewish State in Middle

East

The USSR announced its
support for global communist

movement

Political Science-II1
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63.

119 l euasiy MLl gl :
A) vARsSPL Syauda-dl WAL 1R

Uldlg Al Aner 4

.(B) 2adat VARLSAAL AL ML (Bred

Yldld, axeld 28R 3§,

(€) [ed Heu—ydui s ugel
AFUAL AL W2 Wldlg
AHIH e sy

(D) ARUA A Qg -l quualgl

NN HI2 Midld AHdA 28R

sq




64. The

65.

classical realists held that :

(A) Ideology is a source of power

(B) Ideology is not a source of

power

(C)

Pursuit of power is an ideology
(D) Ideologies influence foreign
policy behavilour

The idea and practices of
international law are influenced
mainly by the writings of :

(A) John Stulart Mill

(B) Hugo Grotius

(C) Jeremy Bentham

(D) Woodrow Wilson

Political Science—111
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64.

65.

dRo{ld Adacielziiq sleaml

(A) [aa1811 Adidl 2s wdid
&

B) (A4l Al olid Al

(C) ddt-dl alier s [QARURL ©

(D) [QauzeaniAl ueua @z Hlfa-dl
adgls Uz us ¢

wid vy slueldl (@Al 24

-

siflalmal yoacd sidl quiisil

weild wul 9 7 .

(A) weld RuE Ma
B) &ol AlRUA
() FRHL oy

(D) 48l A

[P.T.O.]




66. Who among the following is a  66.

theorist on imperialism ?
(A) V.I. Lenin

(B) Joseph Stalin

(C) Leon Trotsky

(D) Prince Kropotkin

67. START I and START II were aimed 67

at :

(A) Arms control

(B) Disarmament

(C) Nuclear non-proliferation

(D) Peaceful resolution of interstate

disputes

68. The European Union is an example 68.

of :

(A) Security community

(B) Collective security system
(C) Regional economic organization
(D) Comprehensive regional

organization
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Al sid wrpdaledll Agilds
2y 531 7

A) dl.augs. adlq

(B) #Rs wdl-t

(®) el gleadl

(D) =y sl

START I 14 START II -l Ggd
gl

(A) Wl R

(B) [R:ae{ls2al

(C) MY [BrmalR

D) idnwy qaslld wilasy

B CTRI]
YU ylru- é‘t-j, Gelsel 8 7
(A) Aaddl agam
(B) Y85 Al A8
(©) wzlus 2ulls Ao

D) el wels das




69.

70.

1

Major instruments of creating a 69.

trade bloc are :

(A) Preferential trade agreement
(B) Free trade area

(C) Customs union

(D) All of the above

GATT was replaceci by :

(A) NAFTA

(B) UNCTAD

(C) WTO

(D) ANZUS

In which of the following ways is =7

India involved with Afghanistan at
present ?

(A) Peace-keeping

(B) Political intervention

(C) Economic development

(D) Counter terrorism
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70.

A1) odls Al Yvd Al ©
(A) wadldayel aur AUR

(B) H5d LUl A

(C) $eHd dslswl

(D) GUAL dHIM

GATT -l oour sid dlel 7

(A) NAFTA

(B) UNCTAD

(C) WTO

(D) ANZUS

14 Usldl 59 Ad ellrd
sUUPRAIAML Admiq AHAH Asouag

¢ 7

(A) aila 2@

(B) UFSU sctdy
(©) s (a5

D) Avale @Al sdast

[P.T.O.]




72,

73.

India has .contributed significantly

to the UN in terms of :

(A) Financial contributions
(B) Peage-keeping operations
(C) Peace negotiations

(D) Fighting famines in Africa

The major thrust of India’s

72, el Aysd weHl 56 Fa Hecaysl

foreign policy in the post-Cold War

era has been on improvement of

relgtionship with :
(A) Great powers
(B) Third world countries
(C) Middle East Countries

(D) UN and its agencies
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73.

qoleld w1y, 9 7

(A) -Leusly dlatel-

(B) éti[aws goill sidandlating
(©) wila Wl areeneiui

(D) %u[%stn’l £e5101AL AL S
My wenid-l cud-l Qe llaxi
A W el yalal 4 ufaan
Ryl U © 7

(A) HelRutlil

B) Al [Aza-L gl

(C) Heuydel gall

(D) AYsd g A dxl A=l




74. Indo-US civil nuclear deal :
(A) Permits inspections by IAEA

(B) Assures steady supply of fissile

material

(C) Permits transfer of civil nuclear

technology

(D) All of the above

75. The current row between US and
Iran concerns :
(A) Iran’s democracy
(B) iran’s nuclear programme
(C) Iran’s treatment of minorities
(D) Iran’s relations with Pakistan
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74, A=A 5L A o1 5 Mg

75.

AM -
(A) TAEA gl [R3law s 1Rl
ALY B

(B) [acuzs amall-l @yl y4sl

Hie widl 2l 8

(C) ailayel wamiy 2sidiow-l
Slidel e HoRl 20 8

D) GUIAL dHIH AAL 8

w@tﬁ 513 S 9L adHiq Rate

=, ™

Al 08 dsuddl § 7

(A) 5%[-1;{1 dlsael

(B) Sl uHIg, sdsu

(€) agicdlail ud Sl ades
(D) SRl Ul WAL Aoid)

[P.T.O.]




ROUGH WORK
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